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Marvellous and Magnificent


156 ÷ 4


348 ÷ 6


536 ÷ 8


1245 ÷ 3


1729 ÷ 7


2916 ÷ 9





Mind-blowing


4015 ÷ 11


3912 ÷ 12


2795 ÷ 13


6259 ÷ 11


4396 ÷ 14


10116 ÷ 12





Answers


Fluent in Five:	1)  256		2)  9001		3)  469		4)  2716		5)  9


Marvellous


and Magnificent:	1)  39		2)  58		3)  67		4)  415		5)  247		6)  324





Mind-blowing:	1)  365		2)  326		3)  215		4)  569		5)  314		6)  843			
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Step one:


Set out your division in the formal method. Place the dividend (number you are dividing) inside the ‘bus stop’ and the divisor (number you are dividing by) on the outside.


 











Step two:


Starting from the left, see how many times the divisor will go into each digit of the dividend. Any remainders move onto the next digit.























Mind-blowing extension:


Short division with a 2-digit divisor. Follow the same steps as above. Clearly the divisor will not go into the first digit of the dividend and so this will need to be carried as a remainder.
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3    2 7





27  ÷  3  =  9





First of all – some vocabulary that you need to know.





Can I use the bus stop method for short division?














